Date: 10.07.2019

Iy

e “Homework:” 4th Grade Weekly Spiral Review (10.07. 2019) =
5
For credit, please use CUBES and show all of your work. 5 DDO 1D ¥
1. Mr. Gilmore wrote the following number on the board: =00
435,528 . SDOO wy SO0 ., \ ’
What is the| valug of the _; before the comma in relatlonshlp to the(jzﬁ the comma in the number? _, N
The 5 after the comma is 10 times the value of the 5 before the comma . 5 O O ‘\S ’{b
The 5 after the comma has the same value as the 5 before the comma ;@;@’ - )
. 5 000
The 5 after the comma is 1/10 the value of the 5 before the comma \_,/ ! o
The 5 before the comma is 100 times the value of the 5 after the comma ‘ %f/,%;w
e | TSEE

2. Anantnest in Jamaica was calculated to include/630,760 mdmﬁiow is that number written

1niexpanded notatxon?g

160

(O
600,000 + 30,000 + 700 + 60 +~ 620

GZ 600,000 + 30,000 +7;000 + 600 = é@@
‘r;{, -60;000-+ 3,000 + 700 + 60

S 60,000 +3;600-+ 700 + 6 VE

3. What part of the model is shaded?

G

fod
1.99 \
. 199 s =
C. 0.199 ‘
D. 199

4. Quinlyn described a number using these clues.
* The value of the digit 7 is (7 x 10). = 7
o
* The value of the digit 3 is (3 x 1,000). = 3 DoV
* The value of the digit 1 is (1 x 100).= tL/%

Which number could fit Quinlyn’s description?




UER 3,175.02¢ (
He-37851:70"
§-——8;372:01

. TN . . L
5. A stadium sold{33,300 tickets to a concert. Which statement about this numberiis true?,

; The value of the digit in the tens place is 10>t{mes the value of the digit in the hundreds place.
5,000 1 30,000 -
4 \\ “¢®  The value of the digit in the thousands place is 10 tlgivalue of the digit in the ten thousands place. |

f&,ﬁé" ;@I The value of the digit in the hundreds place is +0-tmnres }he value of the digit in the thousands place.
2 CXula LD g&; Py

?‘i The value of the digit in the ten E,l}?ousg\nf‘is”place is %the‘value of the digit in the hundreds place.
Siviasy PIER BO0

6.  Nate had to buy a gag gift for the party. The gift had to follow the rules set up by the tMA?LQ#ﬂ”
rule was Natecould notispendimore thaii{$25.75% and the other was he could not spenii@_mjlm $25.15.

How much money could he spend? ~—

/”(  é:«?i-;\aﬁ i {f " Agtﬁé{f::q X
‘\“a $2524 V. e PN M’?“l"“‘*““wf z@  , Et’;
5 LS s2s76> B8 /

\ 74y 52500428, 15

v e .
y e $25.14 L0515 M l}?*%

L0

7. Schooltime Supplies sold one million, four hundred twelve thq:uéaﬁa:ﬁinety penci@last year.
Which of the following siows the amount of pencils sold? Mark your answer.

.k

1,412,900~
1,412,090 ¥~
T 1,412;009~
141,296~
s

8. The counter shows the number of times a website has been visited.

Counter

OO0 10LtE7 |24

W
(O3
)

What is thevalue bf the digitid Jn this number?. Z
LAY 1AV I
4,000
F. 400 A
G. 40

H 4



. \NF a0 Qes
€ 380

~Pr—none-of-these

10.  In the year 2010, the s;;at&o as had a population 0f23,904,3 80, What number sentence below
has the samé| value'ag23,904,3807 } o *

i SR

0 ¢
20,000,000 +-97000 +4;000,000 +300 +8 +460,000 = :2.1‘%” \'%“@j { b 5 D %

>
»3,000,000 +4;000 +80 + 20,000,000 +800,000 + 360 = 13 0{' O L% 5‘8 @ i
2,000 + 36,000,000 + 260 + 4,000,000 + 80 + 3 = / 2

L ho M
kA N e 2 o
ﬁ/ “F, 2 +300 +8000 +40 +26,000,000 +3;000,000 ?)bfﬁ G2, 182

11. The numbem can be expressed as —

- 1% v

(4 X 10)+ (7 x 1) +(6 x 0.01)

@ X10)+(7x 1) +(6 2oe)

@)+ (Tx 1)+ (0 x 1) +(6 1)

(4 x10)+ (7 x 1) + (0};;’0) + (6 x 100)
v L7 R

12. On a popular game show, the contestant was asked to roun &Q&lyto the nearest’i thousap_vcylﬂ.wl
The contestant answered correctly. Which answer did they give?

N

o et
3,345;960~ 8 P A L
FoE2y b

3,356;000~
3,346,000
3,345;000~

13. At ahockey game, there werei86,324 fan$ What i§ ‘86,3221 rounded to theﬁaié;;esttflogswanc‘i&;j
é A

Mark your answer. '

o

o b 3 . t

<N A. 90,000 g A o) ,) i{%ﬁ ,
Y B. 80,000 LUy b |

86,000
87,000 T




14. What part o{ t_he modelgi;”shhaél;gég; Wz
| | S 5

15. The table below shows the length of the railway network in each of five countries.

Railway Networks———.. -
/ Country Length of Pjai!way ‘\

/ (meters) \
7 Brazil 28,538,000 V- \
/ France 29,640,000 % \
i% Italy 20,255,000 2. |
‘\ Japan 27,182,000 & /

5 South Africa 20,192,000 %

U AT i e

T

Which list shows these countries in order fromishortest to longest railway network?

[T ——

| ~Fratice, Brazil, Japan, Italy, South Africa b £
j Souﬁl/'Aﬁxca,EItaly, Jalfan, Brazil, France (-; “i Ot ﬁ%ﬂ a
¢ JLranee, South Africa, Italy, Japan, Brazil % *
“p.  South X?rica Italy, Japan, Erance; Brazil Ew%‘%\
LN » lialy, Japan, > wﬁ\ _ 713N j‘

jzw%'&‘) g ;
16. How is the numeralf 840,405 written in words‘{

Eight huﬁf;d forty thousand, four hindred five

P 53
7 "¥.  Eighty-fourthousamd:-four hundred five AN {
Eight thousand, four hundred forty-five E




:}i Eighty-feur-hundred:four hundred five
/e

17.  Which number has {73}111 the hundrcdrthousandggglace and ¢ ajzrlg the »;é;;:s:;]é?év

318,024 Ty
o 1 ’Og/ %EU wg :; *%gz@”\g} L
“ThSarne
18. A peach farmer was comp?gg,ﬂlemmeaches that had been picked over the last 4 seasons.

st season there wer€ 498,423,516 peachesypicked. The aﬁgcgndﬁxea@:&l:re were

489 423 561 peacheSypicked, ThHe Third season there were! 488 574,216 peachey picked. The fourth
season thefe were 4?8 574,621 péﬁplcked What waMﬂfést Himber, of peachcs picked in a season?

-JZ.@

SAVEL I <
498,423,516 L g?ig,,,gm ]2 S )
489,423,561 o 1o |
488,574,216 VR N
eqw TN e <
488,574,621 t “’ Lm.} ?H ) <l

{),@4 S

19. Marshall collected 467 ns or is recyclmmgigct His cousin, Mark collectel 23 654 cans. )
If Mary, his sister, co ecte Tore ¢ ore cans than Marshall bu{_fewer cans than Mark, | comparisorf

, which co
could be used to represent the cans each student collectcd"

.3
o5
;
,,3.

C
=
i:

A, 23,467 <23,654<23,483
B. 23,654 >23,467 > 23,483
C. 23,483 <23,467 <23,654
e

23,654 > 23,483 > 23 467 ZZ (/ 5:3 7L)> ""\ e*’}
J/w

20.

Two million, seventy—gthousand, one hundred twenty-one +
) T wo:nillion, seventy-six-and-onetwenty=one

‘:H Two million, seventy-six thousand -and-enetwenty=one
Jenone-of-these”







